The Circle

Homework 15

1.  Prove that T(5, 1) lies on the circle 
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2.  Show that 
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is a tangent to the circle 
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     point of contact.
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3.  The diagram shows two identically sized circles that have line AB as a common 

     tangent with T as the point of contact.  The equation of AB is x = -2.


     One of the circles has equation 
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  Find the equation of the   

     other circle.
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4.  Calculate the length of the tangent from A(11,-4) to the circle with

      equation 
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5.  If 
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and g are functions defined on set R by 
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      (a) Find 
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      (b) Find 
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